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Let S=11,2,3,...,100}. The number of non-empty
subsets A of S such that the product of elementsin A

18 even, 18 (2019 Main, 12 Jan )
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*ln aclass DE@%;mbered 1to 140, all even
- . PL
numbered students opted Mathematics course, those

whose number is divisible by(3)opted Physics course
and those whose number is divisible by 5 opted

Chemistry course. Then, the number of students who

did not opt for any of the three courses is
—_ (2019 Main, 10 Jan )
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) If A and B are two sets contaiming four and two
elements, respectively. Then, the number of subsets

of the set A x B each having atleast tlm:_ul&nmnts
are - (2015 Main)
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s) # _
%_Aet Z be the set of integers. If
A={xe Z:2=+D("-5x+6 _

and B={xe @: —3< 2x-1< 9}, then the number of
subsets of the set A x B, 1s (2019 Main, 12 Jan II)
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If both the mean and the standard dewviation of 50 o

- = 25
observations x,, x,,...,%;, are equal to 16, then the ? &
mean of ':Il - 4)2:(1:2 — 4}3. . ,':I:::,.[]. — 4)2 1S é.—é\-' - = lj
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+ For any two statements p and g, the negation of the

expression pv(~ p A q)is (2019 Main, 9 April I)
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